[bookmark: _GoBack]Calculating PAYE (Pay As You Earn)
Please read page 10 - 11 of the Student Manual

NOTE: any individual who makes overs $60,000.00 in Gross Salary per year must pay PAYE.

HOW TO CALCULATE PAYE BASED UPON A GROSS MONTHLY SALARY OF $5200
(Your gross salary is your basic salary before deductions are taken out or overtime added)
				
Step 1.  Calculate the Total Annual Income.  Your Total Annual Income is calculated by multiplying your gross monthly income by the amount of months in the year.
Total Annual Income =	5200.00 x 12 months = 62400.00
			
Step 2. Calculate the Total Annual NIS payment. Your Total Annual NIS is calculated by multiplying your weekly NIS payment by the number of weeks in the year.
Total Annual NIS = 46.02 x 52 weeks = 2393.04
			
Step 3. Calculate 70% of the Total Annual NIS payment.
2393.04 x 70% = 1675.13 (for those using a business calculator)
2393.04 x 70 ÷ 100  = 1675.13 (for those using a regular calculator)			
Step 4.  Calculate the Total Tax deduction.
Total Tax Deducted =  60,000.00 + 1675.13 = 61675.13			
NOTE: 60,000 is amount the government allows us to make without having to pay PAYE. You will always use 60,000 to find your Total Tax Deduction answer. 
Step 5. Calculate the Chargeable Income	
Chargeable Income = 62 400 - 61675.13 = 724.87

 Step 6. Calculate the Tax on Chargeable Income. 			
Tax on Chargeable Income = 724.87 x 25%  = 181.22 			
NOTE: 25% is the standard rate to calculate PAYE.  This amount would never change. 

Step 7.  Calculate the PAYE deduction 	
PAYE deduction = 181.22 ÷ 12 months = 15. 10			
15.10 is the amount to be deducted monthly from the employee's Gross Salary.

              WORKED EXAMPLE
	Payroll for Jan month 2013 – 4 weeks

	
	

	 
	Janet James

	Gross Salary 
	5500.00

	PAYE deductions 
	85.51

	NIS deductions 
	208.28

	H/S deductions 
	33.00

	others 
	150.00

	Net Salary
	5323.21



	
Janet James monthly Gross Salary = $5500.00			
			
HOW JANET’S PAYE WAS CALCULATED

1. Total Annual Income	
5500.00 x 12 months = 66000.00		
2. Total Annual NIS	
52.07 x 52 weeks = 2707.64		
3. 70% of NIS payment	
2707.64 x 70% = 1895.35		
4. Total Tax deducted	
60,000.00 + 1895.35 = 61895.35		
5. Chargeable Income	
66000.00 - 61895.35= 4104.65		
6. Tax on Chargeable Income	
4104.65 x 25%= 1026.16		
7. PAYE deduction 	
1026.16 divided by 12 months = 85.61		
